
Växthushylla
Manual



Shelving 

906 

907 

2
5

5
m

m
 

906 

907 

900/901 

Please drill two holes at same height 
on each corner post before glazing. 



Staging 

909 

902 

903 

902 

903 

5
5

1
m

m
 

Please drill two holes at same height 
on each corner post before glazing. 

900/901 



Model 134

Part Name Part No. Length Qty 

Slat 900 1210 3 

Slat Shelving Horizontal 906 325 3 

Small Diagonal Support 907 395 3 

M6x10 Bolt 12 

M6 Nut 18 

M6x10 Crop - head Bolt 6 

Model 136 

Part Name Part No. Length Qty 

Slat 901 1820 3 

Slat Shelving Horizontal 906 325 4 

Small Diagonal Support 907 395 4 

M6x10 Bolt 16 

M6 Nut 24 

M6x10 Crop - head Bolt 8 




